Identify the missing numbers.
2 7 012

v 6l3]2]2 4,356 minus 4,315

85|79

Calculate...

One packet of Jerry's stickers Caleb calculates...
had 8,32/; another packet
had 5,431. How many stickers
did Jerry have?

“250 tens is the difference between
5,600 minus 310 tens.”

Complete the
part-whole

s Caleb correct?
model. . .
: Explain your reasoning!




Fnglish

What time are we eating tea Asked Jerry, whilst his stomach
grumbled, | am incredibly hungry!

L ook oojr\e/M,g/ at the sentence aboire.
Com.plfi:e/ these ...

1. Add a missing question mark.

2. Add inverted commas fo the direct speech. “
| | —

3. Identify the adverbial phrase.

4. Contract two words with an apostrophe.

5. Identify an adverb.

6. What other question could Jerry have asked?




